(RN
<

—~
=
<)
=2
=
Q
o
[
=
o]

107 F:

a(6 @) (rad)

1072 =

=3 -2 -1 0 1 2 3 ':3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
[—=— DQM original_StepZ_Tbar-phasel-Newgeom

M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—e— DQ &
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

aoa, ) (cm)

10_1::

Ratio
P
N

IR |

TP n (PCA to beamline) TP n (PCA to beamline)

a0 p,/p,)

JEny
S
[

1072 11

R |
1.ZF

1iE

Ratio

M

332 T 0 T 2 3
TP n (PCA to beamline)




	Contents
	Page 1


